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Monday, December 17, 2018

| * Warm-up
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| * Review Linear Regression




Using the formulas & =, 2t Depuics

At her high school, Sara Bellum is é’nrol ed in both physics
and calculus. The scores on the physics final exam are
approximately normally distributed with a mean of 175
points and a standard deviation of 12. The scores on the
calculus final are also approximately with a mean o da
standard deviation of 8. Itis also known t correlati
between the physics and calculus grades is 0.927 Sara scored
181 on the physics fn;LaI Predict what her score would be on
the calculus final. ) bo +b, X bo—"j -b X
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Interpret Slope & Y-intercept
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Residuals preckcted= 83,47

e calculus = —27.275 + 0.613physics
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* It is also known that the correlation between the physics
and calculus grades is 0.92 @2___ O %L/
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What does a residual plot tell us?

21. The residual plots from five different least squares regression lines are shown below. Which of the plots provides
the strongest evidence that its regression line is an appropriate model for the data and is consistent with the assump-
tions required for inference for regression?
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Thoughts on Transformations

A regression of y vs. x was performed, and the least squares
lineis \/y = 5.218 — 0.197x. What is the prediction when;
x =107 = 3,248
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Multiple Choice
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